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Rajasthan CET Sr. Secondary Level Question Paper 24 Oct 2024 2nd Shift

Which of the following district has highest sex ratio of Rajasthan according to Census, 2011 ?

(A) Jaipur (B) Alwar (© Dungarpur
(D) Bikaner (E)  Question notattempted
2011 F} SO % STTER TS & fra § | fepg fet & feimrgaa e arferss 2
(&) SR ® o © FRH
Sardar Sarovar Dam is built over which river ? s,
(A) Godavari - (B) Krishna gty (© Tapi
(D) Narmada (E) Question not atterﬁi)féd
HRR TR iy o Tt W s T g 2
By eEd B) Fom © it
®) T () oTgara W
Which of the following formula depicts monosomy ?
Frffa St 4 & s g <o & 2 |
(A) 2n-1 /ca/zms L © 2n+l
D) 2n+3 (E) Questionnot atteﬁiéed /ST o
Which area of Rajasthan is a part of ‘ Arid North Western Plaixi’}’:;,:-f
(A) North Western Bikaner (B) Barmer -__.°
(© Ganganagar (D) Hanumanga.rh

(E) Question notattempted
T & 5 &9 A | HI 9 geh S afe AL anqawm%7

() IR i SR ® TR
© TR O) TG
() TG T ’

% The largest river in the peninsular region is :
(A) Krishna (B) Narmada (© Mahanadi
(D) Godavari (E) Questionnot attemPtqd
TG FRw/ 8 it Gl T W © *_
@ Fom ® = A T
(D) e ) ogafEwE ; .

/ Which of the following place of Rajasthan is NOT among scheduled desert areas of India ?
(A)  Jhunjhunu () Udaipur L '7 . (© Jodhpur
(D)  Jaisalmer ()  Question notattempted
Wmﬁwﬁﬁaﬁamwﬁ A 3 T TR & 6 T § 7
®) @ R © v

/GD( ST @® oTERa W

A yyo3 2
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/7/ Aman starts a business with Rs. "M’ and 2 months later Chirag joins him with Rs. ‘M/2'. 1 month later Praveen
ns them with Rs.“3M’. The difference between the profit received by Amanand Chirag at the end of one

also joi
year is Rs. 9100. What is the difference between the profit received by Praveen and Chirag ?
(A) Rs. 38,600 Rs. 40,000 .(©) Rs. 28,000
(D) Rs. 28,600 ()  Question not attempted ,
A wIfret & T | O HE % A,

ST 'M'a@mmuﬁmaﬁmﬂﬁﬁ%aﬁmaﬁwwa ‘M/2
galvr ot %, '3M’ ﬂﬁmwmﬁrwn@ﬁaﬁwﬁmwmmaﬁmmﬁa 9100/ - =1 3T 411

mqﬁﬁuﬂmmmﬁwaﬁmwaﬂﬁl

(A) T 38,600 @ E 40,000 © % 28,000
%. 28,600 R 0
S < arhy. -
X Match List-I with List-1I: L o2 23
List-1 List-II ; "7 A €
Indian Player Sport Associated With, -
(@) Manu Bhaker (i)  Cricket
(b)  Mithali Raj (iij)  Shooting
(© PVSindhu (iii) Boxing
(d MaryKom (iv) Badminton
-1 1 gei-11 & gafod i :
-1 -1
i faest AU S
(@ ™I i)  foRehe
b fauch TS ji)  frmsSt
© i M) TS
@ HiHH “ iv)  Sefd

Choose the most appropriate answer from the opti

3 fow T fredl © B waifues Sga Sut 9T

@) (a)- (i), (b) - (ii), () - (iv), () - ) ®)

(@) ), (0)- ), (©)- (), (@) - G
Lo @-G), 0)-0 - @-G@) O @) 0)-0.0- 6 (@)- ()X
A

() Question notattempted/ STARd

// Choose the most appropriate passive form of the sentence given.
No one can do anything about the case unless someone gives us more information.
(A) Someone has to give more information for us to do something.
required.
mation we cannot do anything.
unless we are given more information.

(B) Todoanything more information is
(©)  Unless someone gives us more infor
Nothing can be done about the case,

()  Question notattempted

}/mﬁﬁmﬁmwﬁwuﬁwﬂﬁ%—
a7 ® T © eI
(@) T @ SRRy
v e ! vt g v T -
®w ™, ) R L faw

@ frfg (€) TR
S v23 &

P.T.O.




Join Telegram Group "HaryanaJobs.in"

/‘1/ The Chairperson and member of the Rajasthan Public Service Commission are appointed by the :

(A)  Governor .
B)  Chairman of Union Public Service L0111m1551on

(©  Chief Minister
(D) President

M@i%ﬁaf;; 3 g e 1 o 0 0 A 2
REEIN]
e e S ST & AT
(C) il
D) T
B  oTguia e
i ing i ¢ germination of seeds ! _
13. :/X;nch ;;':\;Z t;orllowmg is the most esser(llt;)al fOH?:gh -, © Ve
(D) Light (F) Questionnot attempted |
77 o sigRo & forg T axﬁqq;mw%')
(B) TR, @®) | e © T
/ Ramgarh Vishdhari Wildlife Sanctuary is 51tuated in which of the following place of Rajasthan ?
(A)° Bundi ®) Jalpur © Churu
() Bharatpur (E) ° Question notattempted
g fememd w1 Sia awmﬂaﬁﬁﬂfﬂﬁaﬂﬁﬂm'@mﬁm%7
A) E\f’ﬂ ®) a—q-g'{ © -
@ SRR ® S

What will come in place of question mark (?) in the series ?

Frefefiag & %9 § gearEs 9% ( 7) #Wmmm?

44,22,22,33,66, 7 - “SR {& “;L
- > 165 ' © 96

) 120
) 100 ()  Question not attempted / 3TITG TT

The sum of all the factors of 120 is :

120 3 |t ORI HT AT AT
360 () 380 © 300
(D) 310 (B) Questionnotattempted/ K ERIEGR RG]

/ Choose the word nearest in meaning to the underhned word.
He tried to alleviate the suffering of his ne1ghboqrs

_aggravate (O abate

(A) remove ®
) distribute ® Qﬁ?zsﬁon notattempted
‘ot & T B ‘ |
iy s, ® & © wHuRH
©) %8 ® SR
| 4

S yo3

Y,
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R —
197 Which of the following is an opaque object ?
(A) Kerosene (B)  Wood © Glass
(D) Water (E)  Question notattempted
e @ = | U ool g R
(A) By T g oy © oI (F)
© ® TR, '

/0./ Match List-I with List-1I:
List-I .

Paris Olympics 2024 Position

in Medals ’ tally i
@ 1 ) I'inéfla‘
® 62nd , (i) USA:
(C) grd : (iid) Pakistan
715t (iv) Japan
gﬁt—r 1 Y-11 § gafad Hife -
-1 ‘ Yei-11
i afffefin st
2024 W HSHI ol ot
(@ (@
® 627 if)
© g ()

@ 71Et
Choose the most appropriate answer from the optio
9 feu U fosedl § & Haifies Sugad sul g :
( (@) - (i), (b) - (ii), (c) - (iv), (d) - (i) - ®B)  @-=(), (b)- (jii). () - (iv), (d) - (i)

(@)~ (i), (b) - (), (©)- (@), (d)- (i) ABY @)D, (b)- (), (©)- (i), () - (iid)
() Question notattempted /3TN 57 3

%‘Subordinate " & fau ERES] fést o1 2=
(4 e . (B ST © WX
py” e ® AT
227 ‘Freva’ @ dfy g _
T ® P \ © frs
D) rH (B)  STIARA 9
Which institution released the gﬂg_r,onmen_t_l guidelines for stone crushmg umts ?
(A) NGT (National Green Tribunal) (B) CPCB (Central Pollution Control Board)
(D) NITIAayOg

(© NAEB _
()  Question notattempted /ﬁﬁ : ¥
e Wiy 3 Fd deeit 3T T o forg SrEy forg T 3 e §2

@) T e (@A) A5 . (e v b )
© wuEARNVACS ©) =i’rﬁr S

B) oTgafaweT

8 yo3 5 5 P.T.O.
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/ Ina village, two contestants (A and B) are contesting inan clection, 70% of the registered voters cast theirvotesin
the election and A wins the election by 600 votes. If A had received 12.5% less votes, A’s votes would have been
here in the village ?

equal to B's votes. How many registered voters are t ¥
Wmﬁﬁmﬁ(Aaﬁw)mwmﬁ%mwﬂmmﬁﬁaﬂ RIS LA A
A, enomﬁﬁaﬁehawmﬁ/\ahus% mmmﬁtﬂﬁmﬁmn%mﬁ%mﬁmﬁ%nm

fr e & A TR TREE? T
(A) 7000 ®) 4000 © 5000
6000 (E) Question not attempted/ aﬁﬂﬁ'ﬂ g
/ vt asrmﬁmf%aﬁaaﬁﬁmanfﬁam%?
) ®. e
() =

26. Rusting of iron takes place:
(A) Inpresenceof both air and water -

(© Inpresence of air only
() Questionnot attempted

- e T S e _
' i /ﬁ) e A ) Tt |

(B) Inabsence of air and water
(D) Inpresence of water only

o wen W <Al bt St #
€ STEAE T
ﬁ ~ Name the first state in India, in which the odem three tier system of Panchayat Raj Administration was adopted. |
(A) Rajasthan = Uttar Pradesh (C) Maharashtra
(D) Kerala (E)~ Questionnot attempted
m%wmm@mﬁmwwﬁmﬁEWWWW ST 7T 2
(A) TSREF : © TR
©) F@
Which movie won the best feature film award at the 69t National Film Awards in 20237
(A) RRR (B) Sarpatta Parambarai
(C) Rocketry:The Nambi Effect (D) Gangubai Kathiawadi

(B) Questionnot attempted
T 2023 1 6990 ﬁ%wﬁﬂmmmﬁﬁﬁﬁmwﬁaﬁﬁw7

(B) |YUE THANE
D) TETE AT

(A) . I AN
© gl : § At 3"}7?\‘3
() Faid 9w
29.  Select the related option which would fé;;!ai:e the question mark (?).

g e w1 = S v Forg.( 2) 3 T R ST W § ?
ANIMAL : OBNJMB:: GROUND:?, *_' .

M~ SHVPEO Y&{  HSPVEP % sHVPOP

SHPMKL 1= E) duesh’on notattempted / 3T 9

[ w2 1S
| VL |
gk v23 i\/ﬁ%% goo(yﬂ) ’ i
l . 13‘1 H
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6’/30.%1“ he Amphibians of the Plant Kingdom' are:
' (A)  Preridophytes . (B) Gymnosperms (©  Thallophytes
y” Bryophytes (E) -Question notattempted .
"URY ST 1 TR (IEeR) ¥ -
&) e ®) © deimica
(D) SR ®
3 Which geographical region of Rajasthan does not share their buundary with Haryana state ?

(A)  South Eastern Plateau region (B) Semi arld réglon
(©)  Eastern Plain region (D) Aravali regl fn

";-,-Ea:s-’;
Frfafaa ¥ & Teeam w1 HH 9 sﬂ?ﬁfiﬁ%‘z’%ﬁﬂfﬂnw%{ma am?#rmwﬁm%?

() Questionnotattempted

N7V EL R CIR Gl ~{3 W ey A

STIRT U
3 In which state did the Supreme Court recently order to haltillegal mining in the Aravalirange ?
(A)  Rajasthan (B) Gujarat T (© Punjab
(D) Haryana (E) Questionnot att ted
S A asﬁwﬁﬂ%’é foret o AT SR el ﬂtmfﬁwmaﬁﬁﬁm ey fEan ?
@ T ® TE © mE_—
33. Howmany squarés are there in the following picture ?
3 fw e F fepa =l €2
[ B G
1| 2 [
1]y s retrs=M
@ 15 ® 17 © 9

\9/14 (E)

c}4./ Punnamada kayal lake is situated in which state of India ?

(A) Kerala (B) West Bengal (©) Rajasthan
{D) Gujarat (E) Questionnota
Wm@am%mwﬁﬁw#

@ F& (B) _ fe=m = © ToEIH
©) T ® SR :

% yo3 7 P.T.O.
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Read the passage and answer the Qns. 35 to 39,

coveted crown later this year, it will be Tike two peas in pod, inmore ways than oné& Even
of himself in the 17-year-old Chennai boy. —

During an interaction with TOI, the Chinese Grand Master (GM) said : "Sometimes I see hi
And we do share some similarities in our playing styles and characters."

Both Ding and Gukesh's journey to the world Championship had surprised the chess wor

eight players, emerging triumphant on his debut. -

He's a very mature playereverat17. Also, he had said my game hassome inspirations for
influence," said Ding. = i

wants to surprise you at the openings. So he'sa difficult player to handle."

months due to psycholog'ical and physical issues. And, when he did play, h
five-time world champion Carlsen to ' make a remark that Ding is "permanently broken".

d," he quipped.

When the reigning world chess champion Ding Liren and his challenger kesh sit down to battle for the
Ding said that he seesshadows

m as a version of me,

1d. After the Chinese

qualified for the Candidates following a ban on Russian GM Sergey Karjakin, Ding Tinis ed second in the tournament..
~Tater, when Magnus Carlsen chose to not defend his world title, Ding got the opportunity to fight for

the crown

with Candidates champion lan Ne omniachtchi. Din shocked Nepo to become the new champion. Gukesh's route to .
the top, too, has also been full of surprises. Despite being written off in the 2024 Candidates, Gukesh, seeded sixth among

That apart, Ding and Gukesh are similar personalities{félﬁ, composed and men of a few words, who let their

moves do all the talking. "He (Gukesh) is not in a hurry while playing, he calmly tries to have ev erything under control. |
; him, so maybe L have had some -

Ding, who was also astounded by Gukesh's Candidateé:;vin; feels the Indian prodigy can bea 'difficult playerto |
handle'. "T have beaten Gukesh twice but what sets him apart is he can play many kinds of openings. And he always

After becoming the world champion last year, Ding hit a rou h patch where he didn't lay for almost eight

= had a series of bad results, w

led the

wwell, I'm getting repaire 7
49 When Ding Liren says that he “sees shadows of himself” in the seventeen year old Chennai hoy, he means that-

(A) _They like each other (B) They share similarities in their playing styles and characters. |

M D. Gukesh and Ding Liren are twins (D) They resembleeach other
Question not attempted >

€. According to the passage Ding Liren journeyed to become

®) en Ding Liren fought for theCTown wi TanT gj:;?mmac tchiand won.
() Whenhe qualified for the Candidature defeah'ng;Gl}/I Sergey Karjakin.
(D) WhenMagnus Carlsen chose to defend his world title.

() Questionnot attempted

/ The Game being discussed here is-
MChess' ' @) Ski-ing (C) Cricket
_,(B‘)/ Polo ‘ (E) Questionnot attempted

38. Ding Liren feels the Indian prodigy D.Gukesh can be a “difficult player to handle” because -
(A)  hecan play many kinds of openings and can sufi)r:i's-e you atthe-epenings.
(B) _hg;is not in a hurry while playing. Sa
(O heiscalmand composed and a man of few words.

(D) helets his move do all the talking. /

(E)  Question notattempted

39. Complete t?le sentence with the most appropriate option %ﬁém the ones given below :
A is a young person.with exceptional quaﬁﬁes':df-abﬂiﬁes. .
®)  Cryptic (B) Psychologist ©_Hewy
@) Prodigy (E) Question notattempted

8 va3 , 8

When Ding Liren got the opportunity to fight for:the Crown with Ian Nepomniachtchi and got defeated. |

WV
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JD/ Which of the following is/ are example of corrosion ?

(a) Ironrust el tb) Black coating on silver

() Green Coatmg oncopper -.. (d);‘ Galvanisation of iron

Choose the most appropriate answer from the ophons given below :

(A)  (a), (b)and (c) only B) _(d) only © (a)only
(D) (a)and (b)only (E) ¢ Quiestion notattempted

et 3 @i e a3 S &782 L

(a). @ET Eul | ?ﬂﬁ 9T Tl ‘Hﬂg T TR,

© O T W SR Fﬂ%’ﬁaﬁﬂﬁwﬁw

A3 o T Pl 4 2 atforen S S T

@) ¥ (a), (b) 3R ()~ - ® FE@ © F@@
@ ¥ (@) 3 (b) ® mﬁaw

\}1/ The United State of Greater Rajasthan was forma]ly inaugurated on 30th March 1949 by
(A) Mahatma Gandhi =( Hiralal Shastri
(©  Sardar Vallabhabhai Patel Khan Abdul Gaffar Khan
() Question notattempted

30 7T 1949, Tl TR U TR ( United S State e of Greater Ra]asthan) i aﬂqmﬁa;ma Toraes g feren T 2

(A) T T
(O TR SEE 9o (D) ©F 3Tege TERR WA

(B) SATaRa o

l?A’he sum of radius and height of a solid Cylinder is 35 cmi and its total surface area is 1540 cm?. What is the volume

of Cylinder ?

(A) 4213 cm® /fB( 4123 cm® (© 4100 cm®

(D) 4312cm3 . (E) Questionnotattempted
maﬁafaﬁ‘s‘{%aﬁ—mj@‘ﬁﬁaﬁmﬁgﬁf %ﬁaquﬁmmoﬁﬁz%lmwm
N2 ‘

@A) 4213 e ,g})/ 4123 P ' (© 4100 ¥R

(D) 4312 &3 ® ar;ﬁﬁa e we '

/ Which of the following key do you press to check‘ -spelling in MS Word ?
mﬁﬁaﬁmﬁmmﬁﬂﬁmﬁﬁ@ﬁqﬁﬁmwm@

(A) F9 | @/ F7 © ¥

©) E2 (B Questionnotattempted/ ST ¥&
7

-—

S yo3 9 P.T..
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44/ i
M. Match List-T with List-IT:
List-1 List-11
Boli/dialect Spoken mainly in Region/ Areas
_ Associated with
(1) Hadoti () Jodhpur, Jaisalmer
(b)  Brij Bhasha (i) Sikar, Jhunjunu
© Marwadi (i) ~Bharatpur, Karauli
)] Shekhawati (iv) Jhalawad, Baran
geit-1 1 geit-11 gy w0
-1 -1l ,
St/ STHTET g@;wﬂgﬂn@ﬁ/éﬁﬁaﬁ?ﬁmﬁ%l
@ wE (), ST ERGLE
() I ~gi) ¥Rt FIL
(© TRERE— i) R, A
(d) ] iv) HEArE, CliS!
Choose the most appropriate answer from the options given below :
4 fag o foedt A & watferes Sugad ST 9T :
- ()

(a) - i), (bY- (i), ()~ (i), (D) - ) >(>’ﬂ5 " (@) - (i), (b) - (i), (©) - @), (D) -
©  (@)-@), @@ ©- O d)-() 5)1 (2)- (i), (b) - (iv), (©) - (i), () - (i)
ST 9 :

‘ Quesﬁonnotattempted ofi
" 45 Match List-1 with List-IL: .
List-1 i

Country

‘(a) Bangladesh ()
Nepal (ii)
(9 Bhutan (id)
(d Myanmar (iv) :
g1 1 g1 g gafed S :
gei-1
@)
()
© ) 2Tl
@ =l

Choose the most appropriate answer from the options given below :

#r3 feu U famedl H @ Wit IR S G :

@A) _ (@)- (), (b)- (), () - (i), (d)- i) 57 ®)  (a)-(iv), (b)- (i), () - (i), (d) - (i
ey (a)- (i), (b)- (), (@ - D, (- -~ @) (@)- [, (b)), (3 - 831 Edg - 8

/© Question not attempted/ SRR W
7w owing irpede]
o among the following is the Chairperson of the Rajasthan State Planning Board ?

A £
§C)) 2}::?81;&:11(') ?f the Assembly {:.1.? (B)  Chief Justice of High Court
(E)  Question notattempted (D)  Chief Minister

TSTE TG A WS, aw&ﬁmﬁf&aﬁﬁﬁ@m%?

M fore @om sreme i % E R
© T (B) I A % HET A
S v23

‘ 10
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& f length 18 metres and 8 metres is ‘m’ metres. If two angles of

The horizontal distance between two pillars o
elevation of their respective top from the bottom of the other are com plimentary to each other, then the value of ‘m’
(in metres) is : "

18 ey et g et wiad & 2 welf % e a‘aﬁm{ﬂ'm'vﬂa%&gﬁsﬁﬁr@:ﬁmﬁ@ﬁifﬁw;_;ﬁ@gﬁ
¥ WA vq e g T A A (e H) WA AR :

A 16 ® 18 © 12

D) 14 () Quesﬁonnotat;;éii’\i?ted/ R
/‘l&/ Frmfefan # Freaaarees wem s 2- ‘

&) T @ Q 9

® = ® oTERa T o

49,

+ 52

In which games category of Paris Paralympics 2024 Mona Agarwal won bronze medal ?
() R8Women10m AirRifleProneSH1 (B) R2Women 10m Air Rifle SH1

(O R2Women10m Air Pistol SH1 (D) R3Women 10m Air Pistol SH1

() Questionnotattempted

3 i 2024 3 Forg et 3§ W s 3 e 9 S 2
(A) RS TGN 10m WR WEHATASHT ~ (B)  R2 T 10m TR TEH SHI
© R2 O 10m OR fresiSH1 by R3 wheel {om TR e SHI

i

I

(B) AT 9H
Carbonis: L
(A) Trivalent (B) Tetravalent = (© Monovalent
(D) Divalent () Questionnot attempted ' '
NEREERIEED (B) =g HASH © TTHEESE
@) T gces (B) a9
Select the improved variety of maize :
(A) Kalyan Sona (B) Sonara (© Ratan
(D) Jaya (E) Questionnot attempted
T 1 T The B | 87

)(K)/ e 9 _ B) FE_ © T
D) <54 () SIARA A
Which Article of the Indian Constitution provides fora Gover: Jorin each State ?
(A)  Article 157 (B) Article159 i (©) Article153

(D) Article155 () Questionnot att_g:ﬁ:»ted
i wiferer & e ST 3 g1 el T H o it g <hl e & 2
(A) ST 157 B) TR 159 © oIT=R 153

(D) - 3TTT 155 - (B R

gevas | 11 PT.0.
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el

e
3% Consider the following data:

AR (f) 30 4 50,4 90

The mean of the above distribution is 29.6. The

e FeyaRCoT 1 e 29.6 &, T W (fufEm)

(A) 65
D) 60
&)/‘mﬁﬁmm’, TR 1 31 ¥
(A) Ay T e
O FRE

js/ Select the most appropriate statement for the appointment of a Chairperson of the State Human

He/She has beena:
(A) Social worker

(B

®)
(E)

(B) Speaker of the Legislative Assembly

DistrictJudge

() Chief Justice or a Judge of High Court :

(E) Questionnot attempted

X 10 20 30 40 50
] Prequency () | 30 50 uﬂ__l_;_'_ : %0
forrferfiaa <121 T R R 3
X 10 y 560 -

1 what is the missing frequency ?

AT FY?

70%7% © 50
Question not attempted/ ST 9

u & gfr B (O v W FA

STARd T

o HAETTHAT W%awa%mmsﬁéawqﬁwﬁiﬁ.mmﬁ@h
! RPSC '

() TS TEE

(B) ﬁmu&n%awa

© e =i

o fosfa

(a) ShriRajeev Swarup
()  ShriOm Prakash Meena

-®

Arrange the following chief secretary of Rajastha

Rights Commissic

SRS ©  AeE

ARG T

(b) Smt. Usha Sharma
(d): . Smt. Kushal Singh

eI 35 T Wi o6 S FraftR % STIER T & T ¥ g

(@) o TSl ey
© 4t =W ey Hon

(@) e (@)

Choose the most appropriate answer from the;obt'ions given below :

= fe T et # @ watfuens sagem s 99 )

@B (b)), @), (© "

A) (@, (d)(b) ()
®)  (0),(d), (a), (b)

8l yo3

(E)

Question not attempted / AT I

12

in the order of their appointment old to recent.

(b), (c), (d), (a)
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58~  Choose the most appropriate option to fillin the blank :
He abdicated the throne his eldest son.
(A) _ by wayof _(®) infavourof .+ (C) against
in lieu of ()  Question notattempted

*

y/ According to Motilal Menaria the Poetic text where the
wars and valour is found is called .

description of the greatness of the king, his Conquests,

(©  Rupak

(A) Vigat (B) Raso
(D) Veli (E) Questionj tattempted
&y fm | T © T
) el ® ~ EHRa W |
Which of the following organization is on the highest level in order of Panchayati Raj system in Rajasthan ?
(A) Panchayat Samiti (B) Gram Panchayat (©  Kendriya Panchayat
(D) Zila Parishad (E)  Questionnotattempted
) deE@Effi - T @ TmEEd » NZglh ki o
@ foemRes (E) TN A

/6{ All the opposite faces of a big cube are coloured with ‘Green, Brown and Red colours. After that it is cut into
64 small equal cubes. How many small cubes are there whose only one face is coloured ?

qma%aj(ﬁa)%;mﬁamﬁ%tﬁaﬁﬁgi,sgaﬂ?@a"@ﬁﬁiﬁmmwﬁlsﬂ?ﬁm@ﬂﬁ%wa?ﬁ
(aq;a?)ﬁﬁmﬁmﬁmw%u@_ﬁaﬁaﬁ%aﬁ(m),:@;ﬁmwwéﬁq%? v 8
@) 26 ® 30 Q. 20 o

()  Question not ‘éttempted /ST 9
!

24

Choose the most apbropriate word to complete the g‘ivéh;s:éhtence 3
When are you bringing the next issue of your journal ?
(4) _up @ out " © off

r

‘/(D)/ cﬁ (E) Questionnotattempted
\93./ What is the shortcut key for the central al_ignment of a line or text in MS office software ?

t @msﬁﬁﬁqmvﬁ‘ﬁ{mmm%ﬁﬁmﬁw%%mmﬁ_m%z
[ (A) Cul+X ' AB) Cul+Alt+S © Cul+w
| (D) Cul+E (B)  Questionnot attempted / STTHRA T

.

It was Monday on Jan. 1, 2024. What will be the day of the :‘A}eek onJan.1,20297?

(A) Monday “(B) Thu:sdaf by (© Sunday
(D) Tuesday ' E) Quesﬁon%:r:}g‘géttempted

1 PR, 2024 1 HITER o1 1 A, 2029 1 HE 1A W R w2

D) WTEER ©

P.T.0;



Join Telegram Group "HaryanaJobs.in"

/ tre, not necessarily in the same order. S} :
7 B,P,QR,STV and W are sitting around a circle facing the centre, . er.Sis ond
u’\e ‘:eﬂ’ of'P ;m::l gis 4 to the right of Q. T is second to the nght of Rand R (Iis ?rt’e 1t'afthef rightof P. Bis 3™ to the ﬂgh:
of V and V is not an immediate neighbour of P. Then who is to the immediate leftof B?

ﬁﬁ'ﬁ'@ﬂﬁ%”flr’%aﬁm@
BPQRSTV@WM@@W@W*{%%IW Wﬁm
saai%aﬁtQ%m‘mm%ﬁv}wﬂmsﬁa%mﬁﬁwiﬁmmr%ar%aﬂtpa;
v 3 i e R T B e S P .Wﬁvqﬁ%lwsﬁsﬁﬁmwﬁﬁah%,
(A) g & ® P .

- not attempted / STTAA T

O S () Question
Which of the following is a physical change? : ) -
(A) : Melting of wax s () Photosynthesis - (O Rustingofiron
(D) Respiration () Questionnot attempted
et A B T T siifes IR R .
\,(M/ i 1 forsrer @) TR AT © T S
®) R @
Which company got the status of Miniratna cate go e < {

(A) PowerFinance Corporation

(©)  Grid Controller of India Limited
() Questionnotattemp ted

w2024 W g st @ RS Fofi-1 ﬁtﬁ%ﬁﬁmﬁ? .

(A) UER EEAE HARTA

fire w=2Ier 31w 3= ﬁ'ﬁﬁétr;
(E) aﬁﬁiiﬂ LS
What is the “RAM” stands for : )
(A) Random AnonymousMemory (B) Read Anonymous Memory
(©) Read Access Memory (D) Random Access Memory

(E) Question not attempted

“RAM” I Ui R ?

(o)  Teu emfme e ®) O FEitmE BE
® SR gk

c,é( The three medians PA, QB, RC of trlangle _QR intersect at point G. If the area of triangle PQRI
90 sq. cm. Then the area of the quadrilateral AGCQis :

(A) 25cm? ® 40 cm2 (© 20cm?
(D) 30cm? (E) Queshon notattempted
s POR -E'ﬁa"[::tm‘mmm QB,RC g G W E\z?f%mﬁﬁrga PQR 1 %A 90 cm? aﬁra@ﬁrvﬁqu

T AAFA § ¢
\-(K)/ (@R/QP ~® 401?@2 © 20 HHR2

301?41#1’2 ® e
\/Wﬁﬂ'wwmwaéﬁwfﬁ@aﬁ%m_
(&)  FIR-TE B fEEgE-wdR Ee ©. -
@) =T ® et e

e vos3 14 ‘ v}
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i
|
! /
( SJZ¥  Inthe context of Indian Constitution which of the following is not a fundamental duty ?
(A)  Torespect the National Anthem
(B)  Torespect the elders
(©  Toprotectand improve the natural environment
(D)  Tosafeguard public property .
(E)  Question notattempted ;
Waﬁm%mﬁmﬁfﬁyﬂﬁaﬁammmﬁ#
(A TS R w o
_B)— WA B o
© T TafeRe i e SR gsm 'EF{"T{
D) mafvrﬁa: wﬁr R m/
%n 24 days A cando 75% of ajob. B can do 7 of thejob in 24 days. In how many days can they dO 3 Ofthejob while
working together ? . . o
A) 8days ®) 10 days : e 5 days
(D) é6days (E)  Question notattempted
A 24 T ¥ 75% Fd o g1 21 B =~ wm24ﬁ=hﬁ1rrmm%ua‘-hﬁmwmé? ‘qmaﬁ
feraa T&1 5 g X wohet € oand |
@) 8fsr © 5fE
) 6l CE A | .
Who was the founder of the Chauhan_dynasty of Ranthambhor ? .
(A) Durlabh Raj £ (B) Vijay Raj © Govind Raj
(D) Vigrah Raj  Question notattempted
TR éﬁﬁma‘ammﬁq o ‘
@) FAITL [ REEERE © it T
w W
P T ® SRy
Ifa=b™ b=c"and c = ak then the value of m, n, kis equal to:
I a=bm b=c" AR c=ak &, AW m, n, k <1 HH S
By 2 .® 3 Q" 0
(E) Question not attempted/ a'ﬁﬁﬁﬁ T

1

Which is the main organization for the Development of Infrastructure in Industrial Areas in Rajasthan ?
‘/  (B) DistrictIndustries Centre

(D) RICO

(A) RAJSICO 4 -
(O  Rajasthan Finance Corporation’v 3
(E)  Question notattempted '

mmmmﬁﬂwmﬁm%m#m?ﬁy

&y TR (RAJSICO)
© usream fora fm @) T (RICO)
B)  STIERG T

% v2s 15 PT0.
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e g e

J/ Which of the following is an esterification reaction ?
Frfiafian & 9 =i v vl e 2
(A)  CH,COOH+NaOH = CH,COONa +H;0

(8 CH,COOH +CHCH,0H HL.CH,COOCHs + 1,0

S NaOH
(© " CH,COO0C,Hs ——= C,H;OH+ CH;COONa
CH,COOH +NaHCO; = CH,COONa + H0+COz_.

o)
' /TG ¥
77" Which of the following is the electronic brain of the Computer ? .
{A)} CPU (Central Processing Unit) @)  Control Unit
(© ALU (Arithmetic Logic Unit) (D) Memory
() Questionnot attempted :
Frefefad § @ S T IR F RIS AT 8 ?
Ay g (B dafE gfe) ® Fed e
© w U 7 (3refafes st ) (D) FHERE
() HTANa T
78~ Where is the natural gas based Ramgarh Power Plant located ? . ' )
: Udaipur (B) Bhilwara (©  Jaisalmer
4D)= Bikaner ()  Question notattempted
S g eI g A ge el e 72 |
\_/79./:th propounded the theory of the origin of Rajputs from the Nagara Brahmanas ?
(A) Vincent Smith (B)  Gauri Shankar (C) JamesTod

(D) Dr. D.R. Bhandarkar (E)  Questionnotattempted

IR SETO § YA i Seard i fagia fere wfaufea feman ?
(a) fdefma By T T © S=ds
(D) o SR HSAH () SIIANaqe

\fﬁa/ Identify the most appropriate sentence from the following options :
(A) He had been livfng in London for two years when I visited him.
(B) © Hehad lived in London for two years when I visited him.
(9 Helivéd in London fé; two years when I visited him,
_,@3)/ He was living in London for two years when I visited him.
) (B)-. Question notattempted '

- .81. Shgose the most appropriate English translation of the given sentence.
T T v T e
~(75(r You have not been deceived. (B)  Youare being deceived by him.
% Hedid nqt_c}e_ceive you. /QB)/ He has not deceive you.
Question not attempted '

8 yo3 i
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/ When was the ‘Objective Resolution’ presented by Pt. Jawahar Lal Nehru accepted by the Constituent
Assembly ?
(A) 26 January, 1947 (B) 22 January, 1947 (©  29November, 1949

(D)  9December, 1946 (E)  Question notattempted
e STETETele NE% BRI W 3w e aﬁyﬁmvmmwmﬁm e T ?

(A) 26 SEH, 1947 AT 22 e, .1947 © 29 TR, 1949
D) 9 K=, 1946 B
}/ Choose the most appropriate Hindi word for the given
DEFERRED
wA) feiE . (B) ©  aftfia T
(D)  STufes & (E) Question otattempted

The total number of 3 different colored pens in a box is 102. If the ratio between red colored and black colored pen

is 5: 3 and the number of black pens is 335 % of green pens, then find the difference between the red colored and

black colored pens ?

@mﬁmﬁwﬁ%mﬁ%mwz%lqﬁmﬁaﬁtmﬁﬁmﬁwms:saaﬂwm

1% FE T R 11 % ot F) whem w7 36 3 A er 71 3 et S e 4 3y el 35 e s

FAHL 2
A) 14 .(® 20 _ © 10
D) 12 (E)  Questionnotattempted/ 3TTART T
ﬁ/wawﬁmﬁr%aﬁa@%wwaﬁl
@) - um ® FE - T A TR - ad
@ R - T, ® sEET

How many slide layouts of office theme are available in new slide dialog box ?

T4 WIEE AR (dialog) e H HATHE i & fora wigs wemse Sugey €2
' 17 ' © 7

@» 9 (B)
) 14 (E)  Question not attempted / 3T U9

Select the incorrectly matched pair of plant and its economically important part :
(A)  Rauwolfia serpentina - Root (B)  Terminalia arjuna- Flower
(Q  Curcumalonga-Stem D) Alliiini sativum - Stem

()  Questionnotattempted

ﬁmﬁﬁgaq@wmwﬁmﬁammﬂmﬁaaﬂfﬂﬁmﬁ%ﬁ@g@w@ﬁ:
(&)  FFfeHEIr gif-Tr - §g '

© g am- T
- (B) SuiE@ g
}&ﬁﬁ’aﬂfwﬁn_w 2
(a) dHm=g B)
D) T (E)
Hvas ' - 17 P.T.0.
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the sun, seen a ;
}/ The sunlight passes through spherical water droplets of rain. An observer with his back to .

Tainbow in front of him.
This Sun phenomenon is due to the :
(A)  effect of reflection of light only A
B) combined effect of dispersion, refraction and reflection of light
(© effectof dispersion of light only
D) effect of refraction of 1ight only -
(E) Questionnot attempted = 3
o e B AR L i e G BT Wafr-%_[;@ e
TR W @ R | T W A ¥ '
(A) T TSR BT
v ¥ &, T e waeda weft 1 e
© W 3 ORET R A
(D) T ¥ SIEdA & I9E

ﬁaﬁ@@%'“mm

N ® AR
: _/90/ Choose the word opposite in meaning to -
fi?“ifﬂfm | (B) polite ~(Q)  unapologeti
_@f  hurtful () Questio
91, ‘efwer’ s H W Hit- 9% %1 W faeed ¥ b .
Ay T TR E B) mﬁwﬁu © dfs =R g
@) TTER Y
/ ‘Pichhvai Painting’ is associated with which school of Art 2
(A) Kishangarh (B) Nathdwara (© Bundi
(D) Kota (E) Questionnot attempted
*fraé e o wen faener | alE €7
@ fmE @ R ©
©) E) STAE T

«93./,W'hich of the following is correct ?

(A) Al the colours in VIBGYOR travel with the same speed in vacuum.
(B) Nonein VIBGYOR travels in vacuum. :

(©) Red light travels fastest (among VIBGYOR) in vacuum

(D) Violetlight travels fastest (among VIBGYOR) in vacuum

(E) Question notattempted

frefafaa A sm @A €2
\@q/ﬁahﬁwmyonfrﬁmﬁm%mwmﬁﬂﬁm%l
® frafa§ VIBGYOR § & =1g ot {1 w1 et Tifdt <7 =hten €1

© Ffa & VIBGYOR ¥ & @l 111 %1 wehrer wart a7 71ft ohell € 1
() frafa ¥ VIBGYOR # & ST 111 it WehTeT eI Wt TIfer hil ¥ |
() uiEys

A

18
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\/-9!./1‘\"!5\!1 walks 3 km to East, then turns North-West and walks 4 km. Then he turns South and walKs
6 km. Then again he turns West and walks 3 km. Finally he turns North and walks 7 km. In which direction, is he

from the starting point ?

(A) South (B) West (©  North-West

(D)  North @) Quq;i:'foi; notattempted

37 Y W1 3R 3 Forelt wreran & fim o st 1 oI g 4 fat e &1 R ag 2 R e gea
6 Tt =5t ¥ 1 fo ww g wfvew feen F1ait 3 fe e @1 ofd 4 9w I BT SR qIH
b

7 Tt =Tl & 1 e for g aTert i fiig @ o fore e 82 .
: h N © IW-uEH ‘% \

(a) = _
\/9;,/ The simple interest on a; certain sum of money for ;}e;rs is Rs. 300 and the compound interest on the same sum
atsame rate for 2 years is Rs. 315. The rate of interest per annum is :
fordll T e 1 2 ol & forg W e v, 300 # ol e w1 S oty & foy wwafs SN
TG EMe IR A I e g . . \,J./\"U
@) 20% ® 25% e 10% s
D) 15% (E)  Question not attempted / SR T A :
¢ Which of the following is an optical storage device ?_, 2\

(A) Punch Card (B) Blur © Harddisk

(D) Tape

fFrefafad & | i @ scea LR feawg &

@A) TIEE ®) © wEfem

® = | ® :

%In AIDS is primarily affected.

(A) Nervous System (B) Digestive System _ (© Circulatory System

(D) ImmuneSystem (E)  Questionnotattempted

AIDSH, e 9§ e el €

(A) <R (B) WEATH © uRE=ROHT

(D) wfRan<s (E) STaid yed

J&/ Which of the following is not a function of the control unit?

(A) DirectOperation =

(B)  Guides data flow through the computer mer

(O Controls Sequential Instruction Execution :

(D) Interprets Instruction

(E)  Question notattempted

Frefefin 3 & 1,91 FiEm S 1 m@

() SPRFE ST '

B e e il ¢ < FER A —

© TP e SR TR

() ST SR |

B  orgaia ge

P.T.O.
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99 Who has been appointed as the 26™ Chief of the Indian Navy in April-2024 ?

(A)  Dinesh Kumar Tripathi (B)  V.R.Chaudhari (© R.HariKumar

(D)  ManojPandey ()  Question notattempted

s, 2024 F seda S I 2637 <E (romey) ford g TN? ,

) Few e B _,(p_),a'lam el © o e FER :

) TS U B THE I i .
\/00/ Choose the most appropriate word to complete the given sentence: ]

The compilation of txtles of books or articles’

at have been used by a person for writing an article is termed

_,(k)/ Blbhography

(© Biography
(D) Blasphemy

(E) Queshon notattempted
__101. Which of the following groups consist of only Input devices ?
(&) - Mouse, Keyboard, Plotter 1)
(© Mouse, Keyboard, Monitor D)
(E) Questionnotattempted

ﬁﬂﬁ%ﬂﬁﬁﬁ?—mm%ﬂm@wam%7

Mouse, Keyboard, Scanner RI}G'
Mouse, Keyboard, Printer

@) T S, T (,937' ﬁmw
© ‘g ©) 3, e

SR T i3
/!OZ/I‘: a typical nucleus some regions of chromatlp re loosely packed and stain light, this regionis knownas:
(A) Nucleosome (B) Hlstone octamer

(©) Heterochromatin
(D) Euchromatin

(E) Questlonnot attempted
T TR e H I & $O A (f?rfw) Wﬁ@mﬂ%aﬂﬁﬁaﬁ{rﬁa@%%l 7 &

_mvrmﬁl
EiEksickel ‘ ‘
() S® fewmmt Noglh = ok e
D) gl | B R Fe

Which of the following fundamental duty is added by the 86 Constitution Amendment Actin Article 51A of the
Indian Constitution for a parent or a guardian ?

(A) To provide opportunities for education to his ward or child between the age of six and fourteen years. |
(B) Safeguard public property and to abjure violence.

(©) Todefend the country and render national service when called upon to do so

(D) Touphold and protect the sovereignty, umty and integrity of India. “5 ~
(E)  Question notattempted ;

se'au'éﬂrﬁmmmafuﬁmﬁmﬁmhaﬁuﬁﬁamsmﬂﬁmﬁf@aﬁ%ﬁmmmmﬁm
Sy sifuees % fog sier T g ? :

(A) aﬁaﬁmmm%ﬁ%aﬁﬁm%ﬁﬁﬁm%mmmly
(®) qﬁaﬁmwﬁrﬁmwmaﬂ{mﬁgmn
© =W T, aﬁmmmmﬁmmml

By mﬁwaﬂr,maﬂtwﬁmmmwﬁmm\
® S

S yo3

B I—

20
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94,/ Who among the following has written the book “Cricket My Style” ? 1
(© RaviShastri

t/f (A) Kapil Dev (B)  Saurabh Ganguly
(D)  Sachin Tendulkar (E)  Questionnotattempted
=1 4 2 e vt ol wrde A T, foret ® 2 E -
Hda ® Wy mnﬁ © T wsh
}%w#ﬁmﬁﬁsmaﬁ%mmw%—, A . ’
) TR R wafn o ®)
(& T TR 37 Ty D) magmwaﬁzgm'@ml
Match List-1 with List-IT :
: List-I List-IT
Lake Located /Close to

(@ Jaisamandlake (i) Nagaur
(b) Sambhar lake (i)  Barmer
(©) Didwana lake (i)  Udaipur
(d) Pachpadra lake (iv)  Jaipur

- G-I -1 9 it i
g _ _ FE-11

feera /&5 e
@ IR
(b R =
© ST
@ S
Choose the most appropnate answer from the options given below :
A T g faenedl & 9 waifies Sage S g

,/(“’f)/ (a) - (i), (b) - (iv), () - (i), (d) - (i) ®)  (@)- (@) (b)-(iv), (c)- (i), (d) - (i)
JQ/ (2)- (iv), (b) - (1), () - (), (d) - (i) O)  (a)- (i), (b) - (iv), (c) - (iii), (d) - (i)
(E) Question notattempted/ AR g

W et ¥ v Ch
: ‘(A) {ﬁ B) .'q’lar ‘ © =

)05/ 1200520 + 3sinf =3, where 0° < 8 < 90°, then what is the value of 551n220 +c0s?0 +cosec?20 ?
‘Iﬁ{ 2c0520 + 3sinf =3 T&l 0° < B < 90° BT T 5sin220 +c0526 +cosec229 1 HH T am?

o iy 29 =5 .3
/(A')/ ‘4-1 ® 3 LS | ' © 15
. D) : %51 . (B Questionnotattempted/ SR 1
Ry, 21 PT.0./

. : o
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] B
&/%ﬁmﬁvﬂaﬂw’én i i _
(A) ?ﬂfmwﬁ By ST . © wewEed

}( Whmh disease is caused due to trisomy of 21 chromosome in humans ?
(A) DownSyndrome i Patau Syndrome .
(© Klinefelter's Syndrome D) - Phenylketonu ria

()  Question notattempted £
FHF 21ﬁwﬁﬁmmm%mﬁm%}fﬁ§

(A) oA fagm
(e TR fag
() g T
y{ Choose the word most similar in meaning to-
ZEAL ,
reluctant () liberal (©  apathy
. (D) fervour (E) Questionnot attempted
The area of a square is 952 + 24x +16. Find the measure of the side of the square.
ot o SR 922 +24x+16 ¥ | o1 % TeTeh A SR
(A 3x+4 B) 3x+5 © 3x+1
y 3x+2 (E) Quesgthq=not attempted/ ﬂﬂﬁﬁﬁ ERE!
1457 Match List-Iwith List-IL -4
' List-1 (Fair) List-II (Place)
(@ KarniMata (i) Kolayat
() ShriMahavir]i (i) Diggi
(c) Kapil Muni (iii) Deshnok
Kalyan ji (iv) Karauli
qﬁ-laﬁwﬁﬁ-llﬁgﬂﬁﬁm|
gelt-1 (&) -1 (T) 2
(@ OO () e
b &t HEErR st y et
(© e jii) 3R

(d) (iv) e
Choose the most appropriate answer from the options given below :
_,2:; fe U faedl o & Walfues Suge S g :
(a)- (i), (b) - (iv), () - (), (&) - (iD (B) (@)-() (b)-( d
©  (a)-(ii), (b)- (i), () - (i), (d) - (iv) ©) : (a) (iv), (b) - 12)1(2) (E:;) (Ei)) (5113
(E)  Question notattempted/ SR 9
114. Which of the following is an example of an impact |
(A) Laser printer

(©) Dotmatrix printer
(E)  Question notattempted

ﬁmﬁf@aﬁﬁmsﬁ%ﬁaaﬂm%v
s (a) o fiE

./(c{'azﬂﬁaﬁfm

B aa,ﬁﬁ?rm

W y23 -
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/ A shopkeeper marked a product, 60% above the cost price and sold the product for Rs. 32 400 after oivi :
giving two

_/J successive discounts of 10% each. Find the cost price of the product.
©  Rs. 20,000

(A)  Rs. 25,000 (B) Rs. 30,000
@) Question not attempted

() Rs. 23,000
T FHIRR N Toh IR T AT 7T B 60% A Wmm%dﬂmmw%ﬁmwmmm

.
I
g% 2

¥ %. 32,400 4 ot o6 | SRR 1 AT [ T H

(A) E 25000 — B % 30,000

© % 20,000

© T 23,000 () TR T
y/ Match List-I with List-II ; -
List-I List-11
(Type of Coal) . (Carbon %)
(a) Peat (i) 94 -98
(b))  Lignite (i 27
(©  Anthracite (iii) 78-86
(d)  Bituminous (iv) 28-30
geit-1 1 Feil-11 & gafem sifeg ;
Tei-1 Tei-n -
(aﬁwa‘.‘wﬁw‘m) ( hTSI T WfaeTd )
(a) "-ﬁ'r_' (] 94 -98
o fouse i 27
© STERERES iij) 78-86

@ fagf Gv) 28-30

Choose the most appropriate answer from the options given belo 2
4 fag e fomedl § @ waifies sagea SW 901 :

A  (@- (i), (b)-(iv), () - (D), (d) - (iii) (\‘g)’/(a) (iv), 111)1 (9) - (i), (d) - ()
© (- (b)- (i), (c)- (i), (d) - (v) () - (i), (b) - (), (©) - (i), () - (iv)
()  Question not attempted,/ ST F&T

Nanda Devi Biosphere reserve is situated in which state ?
(A) Sikkim (B) Assam (©  WestBengal
(D) Uttarakhand () Questionnotattempted
A1 ekt v fore fove T A e 2
fafe ®) o © e
‘ D) SWES (F) STIaRd 9e

i
1

1 Much fundamental right cannot be suspended even during an emergency ?

| (A) Right to freedom to reside anywhere (B) Rightto freedom of Religion

i (© Rightto Life and Personal Liberty (D) Rightto assemblmg peacefully

(B) Question notattempted

mama%a’}rﬁ sﬁﬁqmﬁmm‘w Wm%?
®) v I A o SHER

(a) aﬁT%ﬂmﬁaﬂaﬁW
Wﬁaﬁaﬁtmﬁwmmﬁmﬂm D) wﬁr‘lﬂf@ﬁﬁ@ﬁmmx
)  sigafa g

: {78 23 PT.0.
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P

Irishman and

00se §
0se the mogt appropriate option to fillin the blank :
Englishman, ————

W
S Ould you like to hear story about
cotsman? ; an
‘ , an,
(A) X, an, the, the ® a the, tl}eF the (© ' the,an :
)" a,an an a (E) Questior Y _og_attempted

Y i 7 ,
anetary mission © Chandrayaan - 1

1207 Which of the following is India’s first interpl
(A)  Astrosat ®)
(D) Mangalyaan

ﬁﬂﬁmﬁ%mmﬁammm(' ? .
@A) TE YT (Astrosat) 1 © =5 - 1,
) HTEEH ® ogERa T :
i T Process, res ectively, are:

121. '(I':)e Caﬁl}l’é:za::dp;:moter used in the H(;;Je pNO = Mg y (I e
() Feand Mo (E) Questionnot attempted
%maﬁﬁmﬁmmvﬁmaﬁtaﬁﬁm:%: :
A) MnO, 3K Fe () NO Mo /(Q)/ Mo X Fe

@) FedRMo

122 'The Valley of Flowers’ is situated in which region of

(A) The Arunachal Himalayas
(B) TheEastern Hills and Mountains of Himalayas

(© The Darjiling and Sikkim Himalayas
D) Uttarakhand Himalayas

(E) Questionnot attempted

‘gt S RA 6 fRE a d fem €2
(A) orEvTe femed

India ?

iR sl Fafer fee
(D) TuEs feaed
® ma T

I've got friends so I'm not lonely, but

(A) some,fewer (B) none, 5o (©) none, many

many, a few
&4’2( " The metal which is not found in the free state is :
) Platinum B Iron © Gold
(D) Silver . (3] Quesﬁof_l not attempted
STt e e & 1 fer S wg - I
@) e B d © @
(D) =& () gaiawe

.
8 va3 o
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126

‘/(Aa/Before the date (B)  Beforethe subscription

/2/ Match List-I with List-II :

" (A) %mwémmmmaﬁ

Join Telegram Group "HaryanaJobs.in"

1257 Denatured alcohol i :

(A)  formed by addition of cone. sulphuric acid to alcohol.
(B)  used for the drinking purpose.

©  themixing of a dye and methanol to ethanol for the purpose of industrial use.
(D)  formed when alcohol reacts with ox

ygen,
E) Questionnot attempted :

ﬁﬁmaw%?

o

(B) mwmﬁmmm%l
© W@W%Wﬁ%ﬁ’ﬁﬁﬁﬁ(:

B SHufawws

Choose the most appropriate option to fill in the blank :
The salutation in an official letter should be

©

(D)  Afterthe subject (E)  Question notattempted

List-I

Name of Element omin
(@ Sodium (1) Component q_fj_{:gmoglobin
() Calcium (i)  Maintaining Balance
(© Iron (iii) Makes bones.and teeth strong
(d Iodine (iv) Formation of;:_;th_yrgxine
Fel-1 3 gei-11 & gfem Fifog

el -1

e &Rl A e IRR ¥ e W
@ wifem (i) S w5 ues
®) E (i) TgEE T @A % T

(© < (3TE) () TS qw ﬁ
@ e (v) TRl < 6 e

Choose the most appropriate answer from thé'qg’gbns given below:
= fag e fomredi # § waifies suge sW ﬁﬁq :

@) (@)-(ii), (b) - (), (c) - (i), (d) - (ii) ®).
©  (a)- (i), (b) -{iv), (c) - (), (d) - (ii) L
() Questionnotattempted/SARATHA

Egiciie

% yo3 , 25

After the signature
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* Select the most appropriate statement about blood platelets (I‘hrombocytes) :

a I
) They have no nuclei.

ey are very small fragments of cells. .

(©) They contain red coloured pigment called hemoglobin.

(d) They parﬁcipate in clotting of blood.

© They produce antibodies to fight!aﬂtigcns. . —
Choose the most appropriate answer!fpic)n;t_ the options gwenc1 )eand ie) only
(&) (b),(and (@ only = O O @y
© () (b)and(c)only o) @

(E)  Questionnot attempted

@) = FE W_,,Lﬁ@ﬂ%' (L

®) éﬁﬁm&ﬁ%a@ﬁ@%gﬁ%v;"

© Eﬁmwmaﬂiﬂ?@m%aaﬁ;éﬁﬁmm%l/
3 e uFs oA § W T el e
© agﬁm@am)ﬁasﬁa:mgmﬁﬂam%|

et & @ iR SR ST T ¢ _
ki @ FE ), () (@) FE)

¢) 3fiT (d
fg) ::((:)) ((b;aihic)) . @ FE@® 3 (d)
' i T 8- g
i w ® ©
1307 get-1 g1 & e L
Hei-1 ¢ FE-n
(@) ST @ e
® T w‘;ﬂ) S
© TRHRTH jii) WU
@ e & Fe @) 99
e foew T ferre A & iR SORERT ST 1 HIT |
A (@), )G, @@, @) B @0 G- ©-w) @D
© (@i, (b)-(i), ©-v), @) o B (@), (b)), (-0 ()-v)
(€) SRR o

)}d./ Qand R are siblings. P has two chﬂdrenand he is son of E and E is father-in-law of H. H has only one son. Risr
granddaughter of E. Then how is Q related toE?

(A) Son :(B): Niece (©) Daughter
| (D)  Grand Daughter {(B) Questionnotattempted
Q it RTEI W A e ¥ 1 P A T &R T8 E F A Y, B, H I WHLE, HFI %ad Th A%, E B I

T 81990 mfa@wa‘aia%?

@ o © w
()  STTARE 7E

26
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1 Shimla is cooler than only Manali. Nainital is colder than Ooty but not as cold as Mussoorie. Mount Abu is colder

than Shimla but not the coldest. Which among the following is the most coldest ?

(A) MountAbu (B)  Shimla (© ' Nainital

(D) Mussoorie (E) Quést:ein notattempted

fRren Fae weh @ S ¥ S, m%m%éﬁqm{&ﬁquﬁ%ummmﬁw%mm
S 321 7 | e Frerfafen § Q@ v s s R w2 '

(A) TR NI © e

® gl @  SEERa s

y./ In which month is the festival of Kajali Teej celebra 5 in Bundi?

(A) Bhadrapad (B) Phalgun (@ Chaitra

(D) Shravana (E) Questionnotattempted

S et st o iteR for e A e s ¥ 2

oy ER ®) © =
‘)f ‘e’ g e
GV (B) \_(Q/ bl
o = ® |

135 Himalayan Yew tree (Taxus wallichiana) is found in
(A) Sikkim and Uttarakhand £
®
(©  Sikkim and Himachal Pradesh
(D) Himachal Pradesh and Kashmir
(E) Question notattempted

Tearert 3 a1 ( 2R aiferf=rar) TRA % o Tl § e o E 2
() fafm sin samEs

®) fearaa v’ 3iX sreuTEe w_w
© fafssa i fearma R
@y e v i e

Washing Soda SN (©  Blue Vitriol
_ (D) Baking Soda ()  Question notattempted
| Frefifian 3 & form wrem § e o1 s T 8 § 2 |
} (A) =T ' ®) o \(9/=ﬁa1 fafemer
O wRwdEE € ARG T
% V23 27
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——
137. Which of the following area of Rajasthan is/are benefited with water from Indira Gandhi Canal ?

(@)  Churu (b)  Jaisalmer (©) Jodhpur (d)  Ajmer

Choose the most appropriate answer from the options given below : -

(A)  (a)and (c) only . () (a) (b)and(c)only

©  (a)(c)and (d)only ') (band(c)only

()  Question notattempted yer .

e 3 8- fare ) g e e & Y o I e 52 Ly

@ T R —
ﬁ%ﬁqmﬁaﬁﬁﬁﬁmwmﬂeﬂ 4
By FE () ¥R (©) ) ¥ (a), (0) ) |

e (a), (c) 3R (d) (D) 3 (b) I ()

- S« WA ¥
‘ : : ; i Organisation) 1s i
138/ (’I:)e name of the present (August, 2024) chairman of ISRO (Indian Space Resea]ég; 1‘% R Gin : -:.;

e s SRR T

Dr. K. Kasturirangan (B) DrS Somnath
(E)  Questionnot attempted

PSR

() DrK Radhakrishnan 7 :

mﬁ(mmﬁammm)taﬁﬂﬁ(m, 2024) TEAY g1 }

@A) . F HEICT \ﬁ)/ &, TE. HHA _ © =Lw :

@) S . THIEIH () a7 :
. Choose the most appropriate option to fill in the blank. ‘

After months of recession the economy H picking up. ./(({ was | 1

@A) is (B) ;:? ~are
(E). - Questionnot attempted

)  were
y(./gloose the most appropriate reported form of the sentence given:

’ “Where will you be tomorrow”, I said “in case [ have to meet you?”
(A)  Isaid to him where he will be next day in case I have to meet him.
I enquired about his whereabouts the next day in case  would have to meet up.

(C) __Iasked where you will be next day in case I will meet him.
I asked where he would be the next day in case Thad to meet him.

Question not attem pted
1. Given below are two statements :
Statement (I): Balathal is an important archaeological chalcolithic site in Rajasthan.

Statement (II): It was excavated by V N. Misra. Its contact with the Harappan Civilization is attested from th

house construction. :
In the light of the above statements, choose the most appropriate answer from the options given below.

(A) Statement (I) is true but Statement (11) is false.
(B) Statement (1) is false but Statement (II) is true.
(© BothStatement (I) and Statement (II) are true.
(D)  BothStatement (I) and Statement (IT) are false. oy

() Questionnotattempted
F=2 g oA g ¥ -
HA(): AT TS Tl Teh HEwIq0] e T Fe § 1 i eid

.

FOT(Y):  TEH G A ﬁwﬁaﬁ.éﬁ'i,wWHm@Mquﬁmﬁmﬁaﬁm'%l
T Fort ¥ exreien et foemedi @ Wit SugEm S 9 ; it

(A)  Fo (1) T ¥, g O (1) SR B
(B) o (1) A &, Forg Rl (1) TR

Oy e (1) SR (1) S HE € (i
(D) e (1) 3R (1) <A o7 €
(B) STIIRGIA

I% Va3 28 .
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y\'hich State is NOT a part of the ‘Delhi-Mumbai Industrial Corridor Project’ ?
(A

i ) Punjab (B)  Rajasthan (O Gujarat
P (D) Maharashtra (B)  Questioh hotattempted
i Pl

Foret 3 R e e 1o * et Sy e e o 2

| ®) | © TR
O TR ® :
)7/ Dhol dance is associated with which area of Rajasthan ?
(A) Jalore (B) Pratapgarh (O Sikar
(D) Jaipur (E) - Questionnotattempted

aﬁﬁwﬁdumm%mwmﬁ%?
&) SR (B) WATTE

O) AR . () Iaiad

©

(y/ Where is the “Institute of Leadership Development’ lo :tejii in the state of Rajés'than ?

(A) Jaipur ®B) Jodhpur =+ (©)  Udaipur
(D) Mount Abu (E) Questionnotattempted |
e T F ‘Sfeee @it eliieiig Saeraie’ el 7 fem 22

(&) R ®) SR | . © =R

D) Wy ®  TgaRa we

%; certain language ‘SNIP is coded as ‘@59#’ and ‘KTTE’ ds coded as ‘$9%!". How will ‘PINK’ be coded in the
same code ? e

fepdt v & “SNIP’ WY ‘@59# H IR ‘KITE’ =i $99'1ﬁaﬁ-s' ot T €1 36w ¥ PINK &1 59 i [

(A)  92#% (B) $194

© %85 @\4

./(D)/#95$ (E) Question not attempted / 3T 997

. St
vy 20 Egg'a/ ¥

P.T.O.
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ance from commonly known facts. Read the

m the given statements.

146, Give
N\ S{:::t]n l\.N(‘v stalemen.ts to be true, even if they seem to be at vari
clusions and decide which of the given conclusions logically true fro

Statement  :Some hands are eyes. No eye is leg. All legs are hie:
Conclusions:

(M  Nohand is a hair.

(M)  Someceyes are hairs.

In the light of the above statements, choose the most

~~1f neither () n0

A 1f i 11 ;
GV both (1) and (IT) conclusion follow (B) ; oty (1) D Lsion follows

(©  1fonly () conclusion follows D) | | :
:mavﬁﬁfmrqﬁﬁmﬁ%lﬁﬁ;ﬁm e H 3R 1

appropriate answer from the Optiops given below.
I 2 r (IT) conclusion follows

(F)  Questionnotattempted

ﬁ%u@mmﬁmﬁwﬁqmiwﬁﬁ
vt & s i o et i e aer €L @ 4
YA Wﬂﬂaﬂ'ﬁ%laﬁgm e B &‘? ﬂ
Torerd 5 |
@ e, T T e < f
@ FoIEAAT ,
m@m#mﬁﬁmﬁ%ﬁmﬁﬂwﬁmwwﬁq‘ |
o aEEQ @R O g ) o 7 @ P S
ey R @ P W@ @ ) ke u P S ]
\/YA/: which year was Rajasthan Atomic Power Staﬁog__x_ggamnﬁssioned ? ,
mmmﬁﬁaaﬁmaﬁffm(aﬂhﬁ)éﬁmwm? ;‘1
@ 19758 (B 198 © 1963 '
(o) 1973 ()  Questionnot attempted / STTARA T
18, ‘o’ w1 wfu-fareag B
) T © —TEHS
D) RS
149. National Remote Sensing Centre (NRSC) is located at ?
() Hyderabad (B) Sriharikota (O Ahmedabad
(D) Bengaluru () Questionnot attempted
T g B R (T R T ) el feerd &2
() FER ‘ K s © FRER
oy e () SIIARG T
150, Which of the following is not a type of spreadsheetprogram ?
(A) Googlesheets (B) ¢symphony
(C)  ZohoSheet (D)  Micrdsoft Excel

(E)  Question notattempted :
freafeafiae 4 %9 1 Breviie W i FHR T |

W T
© S e
() i 9w
-00o0-
8 va3 | 20





